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5. Which Airstrip in Haryana is also called

3 as Silokhera Airstrip ?
(A) Hisar (B) Karnal
(C) Gurugram (D) Narmaul

(E) Not attempted

6. Who among the following was a famous

Khayal singer from Haryana belonging 1o
Gwalior Gharana ?

(A) Bade Ghulam Alj Khan
(B) Haddu Khan

(C) Amir Khusro

(D) Tansen

(E) Not attempted

7. Complete the following analogy.
ACE : FHJ :: 0Qs :

(A) Uwy (B) TVX
(C) PUT (D) RTU

(E) Not attempted

8. Which city of Haryana houses Asia’s best

dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Panipat (B) Karnal

(C) Rohtak - (D) Hisar

(E) Not attempted

9. IfRs. 8,000 invested at acompound interest

gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 5% (B) 17.5%

(C) 25% (D) 10%

(E) Not attempted
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56. Haryana ranked among the bottom five
States in which report released by
NITI Aayog ?
(A) Ease of Doing Business Index 2025

(B) Sustainable Development Goals
(SDG) Report 2025

(C) State Investment Index 2025

(D) Fiscal Health Index 2025

(E) Not attempted

The decimal form of % is
1

(B) 0.18
(D) 0.18

(A) Not defined

(C) 0.018
(E) Not attempted

Consider the following statements about
Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains
the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above

is/are correct ?
(A) Both statements 1 and 2 are incorrect

(B) Both statements 1 and 2 are correct
(C) Only statement 1 is correct
(D) Only statement 2 is correct

(E) Not attempted
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69. Who was the first ruler to establiéh Hisar 69. BN T fean & Th 13'@3 ﬂ:\j pou i
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76. Choose the correct active/passive form ol
the given sentence.

She handles all tasks efficiently.
JA) All tasks are being handled efficiently

by her.
(B) All tasks have been handled

efficiently by her.
J (C) Al tasks are handled efficiently by

her.
(DyAll tasks were handled efficiently by

her.
(E) Not attempted

77. Choose the correctly spelt wnrd. '
~ (A Parsonnel (B) Personel

(C) Personnel LSD} perssonal
(E) Not attempted :
Give one word substitute for the following.

The study of plants is called
Botany (B) Sericulture

(C) Bacteriology (D) Astrology
(E) Not attempted

79. Choose the correct option to form &
meaningful sentence. N
\ to the / bring / car park / the money
' (A) The money bring 10 the car park.
_4B] Bring the money to the car park.
(C) Bring to the car park the money.
(D) Car park to the bring the money.

\ | (E) Not attempted
\ 1. @ Choose the correct antonym of the
following word. :
A\ Ascend
bR (A) arrive (B) expand
\ (C) increase (21 deZcend

\ LE) Not a“ampta d
\

AN
"N\

g3. Choose th_é cor
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Choose the afternative which best expresses 8’ ¢
the maaning of the given idiorm/phrase.
Like a sitting duck (¢
(M) \gnorant (B) Sleepy
(D) Fat (

(C) Lazy
(E) Not attempted

Choose the correct indirect form of the

given sentence.
His friend said to him, “Did | not warn yoy

against this peforehand 7”
(A) His friend said 1o him if | had not
warned you against that beforehand.

(B) His friend asked him if he did not
warned him against that beforehand,

(C) His friend asked him did he not
warned him against that peforehand.

[9}' His friend asked him if ne had not
warned him against that peforehand.

(E) Not attelmpted

rect meaning of the
xpression.

following idiom or €

Piece of cake.
(A) Feeling slightly il
B) Would never like to do something

A job, task or other activity thatis

gasy of simple
(D) Joina popular trend or activity

(E) Not attempted

84. Choose the correct synonym of the

following word.

Pause

(A) Stop (B) Staff
 B) Start (D) Safe

(E) Not attempted

85. Choose the correct answer after making

necessary corrections.

| am angry on you.

(A) | am angry to you.

B) | am angry with you.
(C) | am angry for you.
(D) | am angry in you.
(E) Not attempted
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